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Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw
diagrams.

LGS - 1/ PART - 1

Slmengg efamssEnsEn el waléselb. 15x1=15
Qer@asuu’Heter wrpm e safler Wseyd erhyanLw alen_enwig
CobCls0ss1s GPULHLer ellen iWeenyn Cargg T(PFELD.

Answer all the questions. |

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1.

ses prilgierer psatigmarnd Gaidldeb Bipud
(1) wGuirdlear (<) eoGuwim@Germillen
(@) <pégen (rr)' L_GrrGurafen

The pigment present in the muscle ﬁbfc to store oxygen is :
(@) Myosin (b) Myoglobin

(c) Actin (d)  Troponin

<refleger sphSulen aﬂ]e@m@un@m wrg) ?
(1) wflwm ' (=) smiuen el 500
(@) <iCuwreaiwr 7 (%) wils snflan

The end product of Ornithine Cycle is :

(a) Urea , (b) Carbon dioxide
(c) Ammonia e (d) Uric acid

o | der WasliQuAw premleers &rind . _ <4(GLD.
(1) Saflwd &srond (<) Dl

(@) @i fare syl (FF) agrmi(

is the largest endocrine gland in the body.
(a) Pineal gland (b) Pi'tuitary

(c) Adrenal gland (d) Thyroid
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Aaugnelar Copupls uLagha sramiu@eg  eeriu@ib.
(<) HonoCurensl e (<2p) eminsGrrdlatiwm
Q) SN E@EHL g G s 6T () @u},@f_wsﬁlme};eﬁ

Surface antigens on RBCs are called
(a) thrombocytes (b) microglia

(c) agglutinogens (d) agglutinin

LOQUIT SHTEDLD 6T LSEMSE @ g Lieuir Wi ?
(=) flavmiiged (<) eureb_r Crmaen
(@) erl.q. sramGLed () er.gd. LmemevCen

Who coined the term ‘Biodiversity’ ?

(a) Aristotle (b) Walter Rosen

(c) AP.de. Candole (d) A.G. Tansley

arfl Ul (@ almbg Cupliu@Bdng.

(1) Sl Lrgenv Néead
(<) @psCrwr sevevrGendley
(@) umbgen Gomfl

(rF) <psCruiwm epwelllLm

Eri Silk is obtained from :
(a) Attacus ricini

(b) Antheraea assamensis
(c) Bombyx mori

(d) Antheraea mylitta

[ Slmliys / Turn over


https://www.padasalai.net/

6037 | 4

7.

QUGBS :

(1) NuGuev (i) evLrré
(2) Quuflex (ii) &réler
(3) Qrenefen (iii) yrswb
(4)  Lweller (iv) eNU9E

(=) (1) - (v), (2) - (i), 3) - (i), (4) - @)
(=) (1) - (v), () - G), (3)- (), (4) - (i)
(&) (1) - (@), @) - @), @) - @), 4 -0
(/) (1) - @), (2)- @), ) - (), @ -0
Match the following :

(1) Lipase (i) Starch
(2) Pepsin (1) Casein
(3) Rennin (iii) Protein
(4) Ptyalin (iv) Lipid

(@) (1) - (v), (2) - (i), (3) - (), (4) - ()
B (1) - (v), (2 - @), ) - @) (4) - ()
(c) (1) - (@), (2) - @), @)- @), @) -6
(d) (1) - (i), (2) - Gv), (3)- (@), (4) - ()

sanegy eugel eriSelwgdlan paHuc Uenf :

(1) ungIsTUY (=) &r0Y

(Q) e-dlegsse (m) (=) wpod () Gramhid
The main function of the cuboidal epithelium is :

(a) Protection (b) Secretion

(c) Absorption (d) Both (b) and (c)

@ sTHTan LoaGefer PFESSTHN A6 :

(<=1) 500 L., (<s1,) 800 15,60,
(@) 1100 - 1200 LA).60. (/F) 1200 15160
The Tidal Volume of a normal person is :

(a) 500 mL (b) 800 mL

(c) 1100 - 1200 mL (d) 1200 mL


https://www.padasalai.net/

10.

11.

12,

5 6037

wefls peverufar e LG eLd Qauniuflaa SO (e Qg enwg ?
(<) @and (<) Hpiepenar
(Q) @antiGurgamoa () Quamepener

Which part of the human brain is concerned with the regulation of body
temperature ?

(a)  Medulla Oblongata (b) Cerebellum

(¢} Hypothalamus (d) Cerebrum

TE6sTeS o Wlflsaflen Upsel L et iy amarar Ay 1y Henerss Qarer(ererg) ?
(=) seamssraar ‘ (<) cueneTsensLl Li(Lp&Eser
(®) WL Csreise (%) geanddssr

Exoskeleton of which phylum consists of chitinous cuticle ?

(a) Arthropoda (b) Annelida

(c) lEchinoderrnata | (d) Porifera
F(meueTiéslenus wanpuied ser_Hlwemid.

(=) ECG | (<) AL gr CarGenrdlymibd
() EEG (FF) X-sfiger

Foetus development can be observed by using
(a) ECG (b) Ultra sonogram
(c) EEG (d) X-Ray
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13, samanfar seolndn_miuld srerin®inb Qsalensar 6rag o amitsESlenmen ?

(<) Qi sremsald gamasdr Qrajdgements ClLmpb.

(<) weny BensEnd @meurpedisermil @bge.

(@) Qeeyersdr Qanawr apenGanmgsaflallmbg Heuenarsar Garempla.
() s @5 waGamgsalamng Werser Cgreler.

Presence of gills in the tadpole of frog indicates that :

(a) Frogs will have gills in future.

(b) Fishes were amphibious in the past.

(c) Frogs evolved from gilled ancestor.

(d) Fishes evolved from frog - like ancestors.

14. s parQatgiby LHMID BAES WPETElTEIDLSEFEES @ml_(gm o GTeT eLL Ig 6T

Qi :

(1) Goamr @ (<) 2way epl B

(©) & ep® (m) pevarsiés apl(
Name of the joint present between the atlas and axis is :
(a) Saddle joint (b) Synovial joint

(c) Hinge joint (d) Pivot joint

Qe sraTiILOEDS).

15. U&EEECHTL{ 2-amie 2 mUILEET

(<21) Gamenti LMDL (=) FQLOTETLIT
(@) e (7F) Beuenar
Lateral line sense organs occur in

(a) Water snake | (b) Salamander
(c) Fish (d) Frog
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U@ - 11 / PART - II

GOy @ eremeuGuigy b S0 lamnssEpd@ LG Ao walésayn. edlamm arar
24 -&@ sLLmuwns ol wellssa,b. 6x2=12

Note :  Answer any six questions. Question No. 24 is compulsory.

16. Gauetenar <iqtiGurey Hseeuts Ll @iy liGuTe SHaelalmbs Camupsss.

Differentiate white adipose tissue from brown adipose tissue.

17. e geuanerepw Guair seueneruL B mhg ereueumm GCaumuBgeumi ?

How will you differentiate the male frog from female frog ?

18. AmELeied wl B o Nighdlser 2 drerar. grar @anrlienLiuded Gdaa ?

Why are Villi present in the intestine and not in the stomach ?

19. @Qsws gigly erartiu@eug wrg ?
What is called Heart Beat ?

20. Sy e meurdssHlen epearm dewdurhaeiar Quufemen erps)s.

Name the three processes involved in Urine formation.

21. Qeuem Asersafen seui < fadasafien seuer e s s b6 srarliL(Sng). erar ?

The wall of the Ventricle is thicker 'than the auricle. Give reason.

22. anriGwrenser eramuma Gaudldgigieuisdr erariu@n - Auruiupss)s.

Hormones are known as chemical messenger. Justify.
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23. Qrés Qscseilen cramailbmsmu samsdBaided LwamGHD

Qeuctener eygmidseen Birdes Qe Sraisaflar duwrsemar T(PES-

Aautiy oHppid G755
Name the RBC and WBC diluting fluids used in blood cell counting.

24. aemOarni uosTrhsmer BT B sEnsE el tlaram( aupLd CuImg) Agas SHSET
Garampeomd. 6Neré@s. '

Prolonged intake of oily snacks may lead to gall stone formation. Explain.

u@g) - I / PART - III

GOy : sremeuCuenitb M eflamésEpsE LB eQenL_wefdse . eSlart eremr
: b S 6x3=18
33 -&@ sLLmuwns edemLwellEsa.

Note : Answer any six questions. Question No. 33 is compulsory.

25. CGumes - %r‘ré;éﬂu_m ug)gﬁ] GHLQU(ES.

Write a note on the Domain Archaea.

26. ety 2 LpEPaw 2 amall LTas o | ey @UAGRS.

Compare Schizocoelom with Enterocoelom.

27. gAGureNT & LLLD eIemybs LTHESmES GMEH6LD.

Draw and label the areolar Fissue.

28. enpLrgen BriGETedlan Hena eraiuRaugl wrg) ?

What is a condition called ‘Nitrogen narcosis’ ?
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29- Q&n gi&‘(q*l_‘_”.}f._l__ 3 A . ] . o ¥ 4
\ UL dled GDESUILLerer Lnghismer or(ipgs.

30. Amfrsls uellaamar ABPLILGSEID apriCoraans sriufd @swusdar Lkims
eflorgEs. 2ibg anrrGuraier QLW eramer ?

Explain the heart’s role in secreting a hormone that regulates renal function,
What hormone is this ?

3Ll. @&8) wHmb sib Qaismer CaumuBsgis.

Differentiate between rod and cone cells.
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32. 3F anniGonen cran «epssiiu®eig) erg ? HITETHIANETH Jals.

What are referred as ‘3F hormone’ ? Give reasons,

33. ADH -anmiGuonrer arvienu erdlioamp wppid GChiwenp (Gl eremyrLLD EIMCINISICY: 2y

). :@ijﬁ&l&.bm&@&&nm Lo egener e (3.

ADH is controlled by both positive and negative feedback mechanisms. Explain
the conditions for these two mechanisms.
U@ - IV / PART - IV
5x5=25

@Oy : Sievensgl elamssEnsEn elawaflése.

Note : Answer all questions.

34. (=) Quburerar edekEsais sramiL@L QLIS EUTET BTEE LIGRTLIGET WiTenal ?
et Gs. )
S{6V6VE
(<) @@ GLr wrfiCewer ynsGCsTnSes aller&Es.
(a) What are the four common characteristics found in most animals ? Explain.

OR

(b) Describe the external morphology of Lampito mauritii.

35. (1) Qarieuds poGugb Gefloraes dlafésa
SV
() @rdsd sriud-mL-gsmmoL fassald®bs norirase aaen
gL55)80g ?

(a) Explain the process of digestion in the stomach.
OR

(b) How does the blood transport CO, from the tissue cells to the lungs ?
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37.

38.

11

(<) @su Quikss &LOME) 6 LG, wrg ? m’ﬂmé;@{s.

SV F
(<) Qb ey TOUGD elid iy ergivLiapfley Gemonge Libe) aflaflgsain
(@)  Wh

at1s Cardiac Cycle ? Explain,

OR

(b)  Write about the mechanism and healing of bone fracture.

(=) vefls woaran berQeul Bs Carppsensls LLLD uaphgl LTEES®ETS
GIELINTY '
S0V
(%) @57TLE s709 srsgh apriGuorasd wiea ? Saupfler Lafsmars
OB sE.
(a) Draw and label the L.S. of human brain.

OR
(b) What are the hormones secreted by thyroid gland‘ ? Mention their functions.

() X-adligar ararume wreow ? Saupda LHSHM WPHUSFSDsE
IGNICES
S|6V60G)
(<) umblsev Gorflller aurpéens spbélew uLkiseaiar ppalbd fersss.
(a) What are X-rays ? Mention its clinical significance. ' |
OR

(b) Tlustrate the life cycle of Bombyx mori with the help of diagrams.
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